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Estimating Quotient Name:
Deter mine which choiceisthe best estimate. Answers
1) 446+92= 2) 202+38= 3) 236+33=
A. 2 A. 9 A. 8 1
B. 5 B. 5 B. 6
C. 8 C. 7 C. 5 2.
D. 3 D. 6 D. 4
3.
4) 124+23= 5 627+88 = 6) 149+26= 4.
A. 2 A. 3 A. 6
B. 8 B. 5 B. 5 5.
C. 6 C. 6 C. 4
D. 3 D. 7 D. 7 6.
7.
7) 123:34= 8) 238+56 = 9 213:31=
A. 3 A. 2 A. 2 8
B. 7 B. 6 B. 7
C. 9 C. 7 C. 5 9
D. 4 D. 4 D. 6
10.
10) 158+41 = 11) 266+28 = 12) 152+54 =
A. 4 A. 9 A. 3 1
B. 2 B. 6 B. 7
C. 3 C. 2 C. 5 12.
D. 6 D. 7 D. 8
13.
13) 144+67 = 14) 63679 = 15) 35372 = 14.
A. 4 A. 4 A. 8
B. 7 B. 8 B. 9 15.
C. 5 C. 2 C. 5
D. 2 D. 3 D. 7 16.
17.
16) 162+77 = 17) 484+62 = 18) 543+89 =
A. 5 A. 8 A. 4 8
B. 9 B. 4 B. 5
C. 8 C. 7 C. 3
D. 2 D. 2 D. 6
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Estimating Quotient Name: Answer Key
Deter mine which choiceisthe best estimate. Answers
1) 446+92 = 2) 202+38= 3) 236+33=
A. 2 A. 9 A. 8 . B
B. 5 B. 5 B. 6
C. 8 C. 7 C. 5 2 B
D. 3 D. 6 D. 4
3. A
4) 124+23= 5 627+88= 6) 149-26 = 4 C
A. 2 A. 3 A. 6
B. 8 B. 5 B. 5 5 D
C. 6 C. 6 C. 4
D. 3 D. 7 D. 7 6. B
7. D
7) 123+34= 8) 238+56= 9) 213+31=
A. 3 A. 2 A. 2 N D
B. 7 B. 6 B. 7
C. 9 C. 7 C. 5 o B
D. 4 D. 4 D. 6
10. A
10) 158+41 = 11) 266+28 = 12) 15254 = A
A. 4 A. 9 A. 3 11
B. 2 B. 6 B. 7 A
C. 3 C. 2 C. 5 12.
D. 6 D. 7 D. 8
13. D
13) 144+67 = 14) 63679 = 15) 353:72= 14. B
A. 4 A. 4 A. 8
B. 7 B. 8 B. 9 15, C
C. 5 C. 2 C. 5
D. 2 D. 3 D. 7 16. D
17. A
16) 162+77 = 17) 484+62 = 18) 543+89 =
A. 5 A. 8 A. 4 s D
B. 9 B. 4 B. 5
C. 8 C. 7 C. 3
D. 2 D. 2 D. 6
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